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2003a

7.8
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4
5 0.05%~6%
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7

(2003a)

3%

3%~0.1%
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66km

12




9 10
5km
Vp=1.8km/s,Vs=480m/s
1km?
8 2004b
9 Vs=3km/s Vs=3.3km/s
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300m/s
700m/s Vs=480m/s
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11 S

12

13

15

( 1999)
1999
2002 13
(1999)
603 715
(2002)
10 31

12
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2003ct>

2004a16

14

15

31
16

2003b

2003c

2004a

2.2

2003b4

15 3

15 7

16 6

12

21



43=21~ 42°=58~
141=50~7 141=43~
42°=58~ 42°44
141=43~ 141=48~
<) 1 N14=E N16=W
> 3060 45< 45<
A 90= 90=
L 1 42km 26km
W 24km 24km
d 7km
S 1-1(2) S=LW( ) 1,487km?
Mo (3) $=4.24>10""Mo'? 1.23E+20Nm
Mw logMo=1.5Mw+16.1( ) 7.33
Vs (2002) Vp=5.8 6.0km/s Ludwig et al(1970) 3.5km/s
o) Ludwig et al(1970) Vp 3 2.89/cm®
8] p=pVs? 3.4E+10N/m?
D (5) Mo=puDS 241m
A (6)  A=2.46>10""><Mo"? 2.64E+19Nm/s’
Sa Sa=1tr? (7)  r=(7Tt/4Mo/A R Vs® 656km?
Da (10) Da=D><2 4.82m
Moa (5) Moa=p1DaSa 1.08E+20Nm
ca (15) oa=(7/16)<Mo/(r*<R) 11.9MPa
Fmax 6Hz
tr (21)  tr W/(2><Vr) 4.77s
1 1
Sai 2001 Sal:Sa2=16:6 477km? 179km?
Dai (14) Dai=(yi/Zyi3)Da 5.39m 3.30m
Moai Moai=j1DaiSai 8.82E+19Nm 2.03E+19Nm
Mob (12) Mob=Mo-Moa 1.45E+19Nm
Sb Sh=S-Sa 831km*
Db (13) Mob=j1DbSh 051m
ob (17) __ob=(Db/Wh)/(11¥*/Da) r v/’ oa 1.0MPa
1-3(2)
1-3(3)
Vr (22) Vr=0.72Vs 2.5km/s




